2-Way ANOVA Worksheet (a=2 Levels, b=3 Levels)
Factor A  __________   Levels __________________________________

Factor B  __________   Levels __________________________________

Response Variable ______________________

Cell Means (SD)

	Factor A\B
	1
	2
	3
	Overall 

	1
	 
	 
	 
	 

	2
	 
	 
	 
	 

	Overall
	 
	 
	 
	 


Estimated Factor A Differences (Level 1-2):

Overall __________    B@ 1______________  B@ 2______________  B 3_____________
Analysis of Variance (Model with Interaction)
	Source
	df
	SS
	MS
	F
	P-value

	A
	 
	 
	 
	 
	 

	B
	 
	 
	 
	 
	 

	A*B
	 
	 
	 
	 
	 

	Error
	 
	 
	 
	 
	 

	Total
	 
	 
	 
	 
	 


Regression Approach:  

Complete Model:  E(Y) = 1A1 2B1 +3B2 +4A1B1 5A1B2  (Interaction)

Reduced Model: E(Y) = 1A1 2B1 +3B2  (Additive)

	
	Complete
	
	
	Reduced
	

	Source
	df
	SS
	Source
	df
	SS

	Regression
	 
	 
	Regression
	 
	 

	Residual
	 
	 
	Residual
	 
	 

	Total
	 
	 
	Total
	 
	 


Test H0: No Interaction Between Factors A and B  vs  HA: Interaction exists

Test Statistic:  Fobs = 

Rejection Region: Fobs 
Critical difference (Bonferroni) for comparing levels of B within levels of A (Interaction):
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